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—2x(x% +3x—1) = —2x> — 6x2 + 2x
a=-2,b=-6, c=2
na+b+c=(-2)+(-6)+2=-6
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(x +)? = 2* + 2xy + y*(m?)
(x—y)? = x* - 2xy + y*(m?)
@(X+y)(x—y) = x? —y?(m?)
(x +y)(x—y) = x* + y*(m?)
(

x+y)(x+y) = x* 4 y*(m?)

Mz 2T 7k29] 40| (x4 y)m, A2 Zo] (x-y)m
FZO ol ! (x+y)(x—y) = 2* - y*(m?)
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= FOIA (2x + 3y)(2x - y) & =71 KK

@ 4x% - 2xy - 3y?
@ 4x - 8xy —3y?

D 4x2% - 3y?

® 4x2 + 4xy — y?

((@4x2 + 4xy — 3y?

(2x+ 3y)(2x —y)
= (2x)2 4+ 2x X (=y) + 3y X (2x) 4+ 3y x (-y)

= 4x? + 4xy — 3y?
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(4x +1)(x + 3y) = 4x® + 12xy + x + 3y
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5. (-4x-5)? & HAANSHH?

O -8x%2-20x-25 @ —-8x%2-40x-25
® 16x% +20x + 25 @16x2 +40x + 25

® 20x%2+10x+5

(—4x)2 + 2 x (=4x) X (=5) + (=5)2 = 1632 + 40x + 25




6. (Ux-A)? =16x>-Bx+9 & |, A, B g2 AAFE A=
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(4x)2 =2 X 4x X A + A% = 16x? — 8Ax + A?
=16x2 - Bx+9

A2 =9, A=3( A AdE)

B=8A=24

LA=3, B=24







8.  (x—1)(x-2)(x+2)(x+3)2 AMFE uf x| AFE F3tofat.

(x=1)(x+2)(x—2)(x+3)
=(x?+x-2)(x2+x-6)

x2 +x=1t2olH

(x% 4+ x—2)(x% + x - 6)
=(-2)(t-6)

= -8t+12
=(x?+x)2-8(x>+x)+ 12
=x'+ 223+ 5% - 8x% - 8x+ 12
=x*+2x3 - Tx? - 8x + 12
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(x+2)(x +3)(x - 2)(x — 3)

— {(x+2)(x - DN(x + 3)(x - 3))
=(x?-4)(x2-9)

=x* - 13x% + 36

v —13436 =23
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(2x = 3)(2x +y — 3) = AT A2

@® 4x>-6x—-3y+6 @ 4x> - 12x+2xy-3y+6

(@)4x2—12x+2xy—3y+9 @ 4x*> - 12x+6xy -3y +9

® 4x?-12x+4xy -3y +9
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(2x-3)(2x—-3+y)ollA 2x—3 =t 2 X &5HH t(t +y) = 2+ ty
(2x—3)% + (2x - 3)y

=4x% = 12x+ 9 + 2xy — 3y

=4x* - 12x+2xy -3y +9
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